
BOLLETTINO UNIONE MATEMATICA ITALIANA

S. N. MAHESHWARI

**On the absolute harmonic summability of a
double series related to a double Fourier
series.**

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 16
(1961), n.3, p. 221–237.

Zanichelli

http://www.bdim.eu/item?id=BUMI_1961_3_16_3_221_0

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

**On the absolute harmonic summability of a double series
related to a double Fourier series.**

By S. N. MAHESHWARI (Sagar, India) (*)

Summary. - *The author defines absolute harmonic summability for double series and studies a problem relating absolute summability factors for double FOURIER series by harmonic means.*

1. DEFINITION 1. - A double series $\Sigma \Sigma U_{m,n}$ with the sequence of partial sums $\{s_{m,n}\}$ is said to be summable by harmonic means or summable $(H, 1, 1)$ if the sequence

$$t_{m,n} = \frac{1}{P_m P_n} \sum_{l=0}^m \sum_{k=0}^n \frac{s_{m-l, n-k}}{(l+1)(k+1)},$$

$$\left(P_n = 1 + \frac{1}{2} + \dots + \frac{1}{n+1} \right),$$

tends to a finite limits as $(m, n) \rightarrow \infty$.

This is known [6]. It may be noted that this is a particular case $p_n = \frac{1}{n+1}$ of Nörlund summability of the double sequence as defined by HERRIOT [4].

DEFINITION 2. - A double series $\Sigma \Sigma U_{m,n}$ is said to be absolutely summable by harmonic means or summable $|H, 1, 1|$, if

$$\sum_m \sum_n |t_{m,n} - t_{m,n-1} - t_{m-1,n} + t_{m-1,n-1}| < \infty,$$

$$\sum_m |t_{m,n} - t_{m-1,n}| < \infty, \quad \sum_n |t_{m,n} - t_{m,n-1}| < \infty.$$

Compare TIMAN [7].

2. Suppose that the function $f(u, v)$ is integrable in the sense of LEBESGUE over the square $(-\pi, \tau; -\pi, \pi)$ and is periodic with period 2π in each variable. The double FOURIER series asso-

(*) Pervenuta alla Segreteria dell'U.M.I. il 22 giugno 1961.

ciated with the function $f(u, v)$ is

$$\sum_1^{\infty} \sum_1^{\infty} A_{m,n}(u, v) \quad [5].$$

We write

$$\begin{aligned} \varphi(u, v) = & \frac{1}{4} [f(x+u, y+v) + f(x+u, y-v) \\ & + f(x-u, y+v) + f(x-u, y-v)], \end{aligned}$$

$$K_n(u) = \sum_{\nu=0}^{n-1} \left(\frac{P_n}{\nu+1} - \frac{P_\nu}{n+1} \right) \frac{\cos(n-\nu)u}{(n-\nu) \log^\varepsilon(n-\nu+1)},$$

$$h_1(u) = \sum_{\nu=0}^{n-1} \frac{\cos(n-\nu)u}{(\nu+1)(n-\nu) \log^\varepsilon(n-\nu+1)},$$

$$h_2(u) = \sum_{\nu=1}^{n-1} \frac{\cos(n-\nu)u}{\nu(\nu+1)(n-\nu) \log^\varepsilon(n-\nu+1)}.$$

VARSHNEY [9] has proved the following theorem:

THEOREM A. - Suppose $\sum A_n(t)$ be the FOURIER series of the function $f(t)$ which is integrable (L) and is periodic. Let

$$\int_0^t |\varphi(u)| \, du = O(t), \quad \text{as } t \rightarrow 0,$$

then the series $\sum n^{-1} |\log(n+1)|^{-\varepsilon} A_n(t)$, ($\varepsilon > 0$), at $t = x$, is absolutely harmonic summable, where

$$\varphi(t) = \frac{1}{2} [f(x+t) + f(x-t)].$$

We shall prove the following theorem:

THEOREM. - If

$$\varphi(u, v) \equiv \int_0^u ds \int_0^v | \varphi(s, t) | dt = O(uv),$$

$$(2.1) \quad \int_0^\pi dt \left| \int_0^u \varphi(s, t) ds \right| = O(u),$$

$$\int_0^\pi ds \left| \int_0^v \varphi(s, t) dt \right| = O(v),$$

as $u \rightarrow 0, v \rightarrow 0$, then the double series

$$(2.2) \quad \sum_m \sum_n \frac{A_{m,n}(u, v)}{mn \{ \log(m+1) \cdot \log(n+1) \}^\varepsilon}, \quad (\varepsilon > 0),$$

is sumable $[H, 1, 1]$ at $u = x$ and $v = y$.

This theorem is a generalisation of Theorem A for double FOURIER series.

3. We shall require the following lemmas.

LEMMA 1. - Uniformly for $0 < t < \pi$,

$$\left| \sum_n \frac{m \sin kt}{k} \right| \leq A,$$

where m and n are any positive integers.

This is known [8, p. 440].

LEMMA 2. - If $0 < t < \pi$, then

$$\left| \sum_{k=0}^n \frac{\cos(k+1)t}{k+1} \right| = O\left(1 + \log \frac{1}{t}\right).$$

This is known [3].

With the help of Lemmas 1 and 2, we deduce

LEMMA 3. - If $0 < t < \pi$, then for all positive integers m & m' ,

$$\sum_{k=m}^{m'} \frac{\sin \cos(n-k)t}{k+1} = O\left(1 + \log \frac{1}{t}\right).$$

LEMMA 4. - We have

$$(i) \quad \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor - 2} \left| \Delta \left(\frac{(n+1)P_n - (k+1)P_k}{(n-k) \log^\varepsilon (n-k+1)} \right) \right| = O(\log^{1-\varepsilon} n), \quad \varepsilon > 0,$$

$$(ii) \quad \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor - 2} \left| \Delta \left(\frac{1}{(n-k) \log^\varepsilon (n-k+1)} \right) \right| = O\left(\frac{1}{n \log^\varepsilon n}\right) \quad \varepsilon > 0,$$

$$(iii) \quad \sum_{k=1}^{\lfloor \frac{n}{2} \rfloor - 2} \left| \Delta \left(\frac{1}{k \log^\varepsilon (n-k+1)} \right) \right| = O\left(\frac{1}{\log^\varepsilon n}\right), \quad \varepsilon > 0.$$

PROOF. - Result (i) is known [9]. For proving (ii) we observe that

$$\begin{aligned} & \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor - 2} \left| \Delta \left(\frac{1}{(n-k) \log^\varepsilon (n-k+1)} \right) \right| \\ &= O \left[\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor - 2} \frac{1}{(n-k)(n-k-1) \log^\varepsilon (n-k+1)} \right] \\ & \quad + O \left[\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor - 2} \frac{1}{(n-k)^2 \log^{1+\varepsilon} (n-k+1)} \right] \\ &= O \left[\frac{1}{n^2} \sum_0^{\lfloor \frac{n}{2} \rfloor - 2} \frac{1}{\log^\varepsilon (n-k+1)} \right] \\ &= O[1/n \log^\varepsilon n]. \end{aligned}$$

Again

$$\begin{aligned} & \sum_{k=1}^{\lfloor \frac{n}{2} \rfloor - 2} \left| \Delta \left(\frac{1}{k \log^\varepsilon (n-k+1)} \right) \right| \\ &= O \left[\sum_1^{\lfloor \frac{n}{2} \rfloor - 2} \frac{1}{k^2 \log^\varepsilon (n-k+1)} \right] + O \left[\sum_1^{\lfloor \frac{n}{2} \rfloor - 2} \frac{1}{k(n-k+1) \log^{1+\varepsilon} (n-k+1)} \right] \\ &= O \left[\frac{1}{\log^\varepsilon n} \sum_1^{\lfloor \frac{n}{2} \rfloor - 2} \frac{1}{k^2} \right] + O \left[\frac{1}{n \log^{1+\varepsilon} n} \sum_1^{\lfloor \frac{n}{2} \rfloor - 2} \frac{1}{k} \right] \\ &= O(1/\log^\varepsilon n). \end{aligned}$$

This proves the lemma.

LEMMA 5. - For $0 \leq t \leq \pi$, $\varepsilon \geq 0$, we have

$$K_n(t) = O(\log^2 n/n).$$

PROOF. - Since

$$\frac{\cos(n - \nu)t}{\log^\varepsilon(n - \nu + 1)} = O(1) \text{ as } n \rightarrow \infty \text{ and } \frac{P_n}{\nu + 1} \geq \frac{P_\nu}{n + 1} \text{ for } n \geq \nu,$$

we have

$$\begin{aligned} |K_n(t)| &\leq \sum_{\nu=0}^{n-1} \left| \frac{P_n}{\nu + 1} - \frac{P_\nu}{n + 1} \right| \frac{1}{(n - \nu)} \\ &= O \left[\sum_{\nu=0}^{n-1} \frac{P_n}{(\nu + 1)(n - \nu)} \right] = O \left(\frac{\log^2 n}{n} \right). \end{aligned}$$

This proves the lemma.

Proceeding in this manner we can establish the following inequalities:

$$h_1(u) = O(\log n/n), \quad h_2(u) = O(\log n/n), \quad \frac{d}{du} K_n(u) = O(\log^2 n),$$

$$\frac{d}{du} h_1(u) = O(\log n), \quad \frac{d}{du} h_2(u) = O(\log n).$$

LEMMA 6. - If $0 < u < \pi$ and for every positive $\varepsilon \neq 1$,

$$K_n(u) = O \left\{ \log \left(\frac{r}{u} \right) / n \log^{\varepsilon-1} n \right\},$$

$$h_1(u) = O \left\{ \log \left(\frac{r}{u} \right) / n \log^\varepsilon n \right\},$$

$$h_2(u) = O \left\{ \log \left(\frac{r}{u} \right) / n \log^\varepsilon n \right\},$$

where r is some fixed constant greater than π .

PROOF. - Result (i) is known [9]. We have

$$\begin{aligned} h_1(u) &= \sum_{v=0}^{n-1} \frac{\cos(n-v)u}{(v+1)(n-v) \log^\varepsilon(n-v+1)} \\ &= \sum_{v=0}^{\lfloor \frac{n}{2} \rfloor - 1} + \sum_{v=\lfloor \frac{n}{2} \rfloor}^{n-1} = \Sigma_1 + \Sigma_2, \text{ say,} \end{aligned}$$

so that by ABEL'S transformation,

$$\begin{aligned} \Sigma_1 &= \sum_{v=0}^{\lfloor \frac{n}{2} \rfloor - 1} \frac{1}{(n-v) \log^\varepsilon(n-v+1)} \frac{\cos(n-v)u}{v+1} \\ &= \sum_{v=0}^{\lfloor \frac{n}{2} \rfloor - 2} \left\{ \Delta \left(\frac{1}{(n-v) \log^\varepsilon(n-v+1)} \right) \right\} \left\{ \sum_{k=0}^v \frac{\cos(n-k)u}{k+1} \right\} \\ &\quad + \frac{1}{\left(\lfloor \frac{n}{2} \rfloor + 1 \right) \log^\varepsilon \left(\lfloor \frac{n}{2} \rfloor + 2 \right)} \cdot \left\{ \sum_{v=0}^{\lfloor \frac{n}{2} \rfloor - 1} \frac{\cos(n-v)u}{v+1} \right\} \\ &= O \left[\log \left(\frac{r}{u} \right) / n \log^\varepsilon n \right], \end{aligned}$$

and

$$\begin{aligned} \Sigma_2 &= \sum_{v=\lfloor \frac{n}{2} \rfloor}^{n-1} \frac{\cos(n-v)u}{(v+1)(n-v) \log^\varepsilon(n-v+1)} \\ &= O \left(\frac{1}{n^2} \sum_{v=\lfloor \frac{n}{2} \rfloor}^{n-1} \frac{1}{\log^\varepsilon(n-v+1)} \right) \\ &= O \left(\frac{1}{n \log^\varepsilon n} \right). \end{aligned}$$

This proves the result (ii). Again

$$h_2(u) = \sum_{v=1}^{\lfloor \frac{n}{2} \rfloor - 1} \frac{\cos(n-v)u}{nv(v+1) \log^\varepsilon(n-v+1)}$$

$$\begin{aligned}
 &+ \sum_{v=1}^{[n/2]-1} \frac{\cos(n-v)u}{n(v+1)(n-v) \log^\varepsilon(n-v+1)} \\
 &+ \sum_{[n/2]}^{n-1} \frac{\cos(n-v)u}{v(v+1)(n-v) \log^\varepsilon(n-v+1)} \\
 &= \Sigma' + O \left\{ \log \left(\frac{r}{u} \right) / n^2 \log^\varepsilon n \right\} + O \left\{ \frac{1}{n^3} \sum_{[n/2]}^{n-1} \frac{1}{\log^\varepsilon(n-v+1)} \right\}
 \end{aligned}$$

where by ABEL's transformation,

$$\begin{aligned}
 \Sigma' &= \frac{1}{n} \sum_{v=1}^{[n/2]-1} \frac{1}{v \log^\varepsilon(n-v+1)} \cdot \frac{\cos(n-v)u}{v+1} \\
 &= \frac{1}{n} \sum_{v=1}^{[n/2]-2} \left\{ \Delta \left(\frac{1}{v \log^\varepsilon(n-v+1)} \right) \right\} \left\{ \sum_{k=0}^v \frac{\cos(n-k)u}{k+1} \right\} \\
 &\quad + \frac{1}{n} \cdot \frac{1}{\left(\left[\frac{n}{2} \right] - 1 \right) \log^\varepsilon \left(\left[\frac{n}{2} \right] + 2 \right)} \cdot \left\{ \sum_{v=0}^{[n/2]-1} \frac{\cos(n-v)u}{v+1} \right\} \\
 &= O \left\{ \log \left(\frac{r}{u} \right) / n \log^\varepsilon n \right\}.
 \end{aligned}$$

This proves the lemma completely.

4. PROOF OF THE THEOREM. - Let $U_{m, n}$ be the (m, n) th term of the double series (2.2), then we have

$$\begin{aligned}
 t_{m, n} &= \frac{1}{P_m P_n} \sum_{\mu=0}^m \sum_{k=0}^n \frac{s_{m-\mu, n-k}}{(\mu+1)(k+1)} \\
 &= \frac{1}{P_m P_n} \left[\sum_{k=0}^n \frac{(m+1)^{-1} s_{0, n-k} + m^{-1} s_{1, n-k} + \dots + s_{m, n-k}}{k+1} \right] \\
 &= \frac{1}{P_m P_n} \left[(m+1)^{-1} \sum_{k=0}^n \frac{s_{0, n-k}}{k+1} + m^{-1} \sum_{k=0}^n \frac{s_{1, n-k}}{k+1} + \dots \dots \dots \right. \\
 &\quad \left. \dots \dots + \sum_{k=0}^n \frac{s_{m, n-k}}{k+1} \right]
 \end{aligned}$$

so that

$$\begin{aligned}
 & t_{m, n} - t_{m, n-1} - t_{m-1, n} + t_{m-1, n-1} \\
 &= \frac{4}{\pi^2} \int_0^\pi \int_0^\pi \varphi(u, v) \left\{ \frac{1}{P_n P_{n-1}} \sum_{k=0}^{n-1} \left(\frac{P_n}{k+1} - \frac{P_k}{n+1} \right) \frac{\cos(n-k)u}{(n-k) \log^\epsilon(n-k+1)} \right\} \\
 &\quad \left\{ \frac{\cos mv}{m P_m \log^\epsilon(m+1)} \right\} dudv \\
 &- \frac{4}{\pi^2} \int_0^\pi \int_0^\pi \varphi(u, v) \left\{ \frac{1}{P_n P_{n-1}} \sum_{k=0}^{n-1} \left(\frac{P_n}{k+1} - \frac{P_k}{n+1} \right) \frac{\cos(n-k)u}{(n-k) \log^\epsilon(n-k+1)} \right\} \\
 &\quad \left\{ \frac{1}{(m+1) P_m P_{m-1}} \sum_{l=1}^{m-1} \frac{\cos(m-l)v}{(l+1)(m-l) \log^\epsilon(m-l+1)} \right\} dudv \\
 &- \frac{4}{\pi^2} \int_0^\pi \int_0^\pi \varphi(u, v) \left\{ \frac{1}{P_n P_{n-1}} \sum_{k=0}^{n-1} \left(\frac{P_n}{k+1} - \frac{P_k}{n+1} \right) \frac{\cos(n-k)u}{(n-k) \log^\epsilon(n-k+1)} \right\} \\
 &\quad \left\{ \frac{1}{P_{m-1}} \sum_{l=0}^{m-1} \frac{\cos(m-l)v}{l(l+1)(m-l) \log^\epsilon(m-l+1)} \right\} dudv \\
 &= \frac{4}{\pi^2} \int_0^\pi \int_0^\pi \varphi(u, v) \frac{K_n(u) \cos mv}{m P_n P_{n-1} P_m \log^\epsilon(m+1)} dudv \\
 &- \frac{4}{\pi^2} \int_0^\pi \int_0^\pi \varphi(u, v) \frac{K_n(u) h_1(v)}{P_n P_{n-1} (m+1) P_m P_{m-1}} dudv \\
 &- \frac{4}{\pi^2} \int_0^\pi \int_0^\pi \varphi(u, v) \frac{K_n(u) h_2(v)}{P_n P_{n-1} P_{m-1}} dudv \\
 &= \frac{4}{\pi^2} [J_1 - J_2 - J_3], \text{ say.}
 \end{aligned}$$

In order to show

$$\sum_m \sum_n |t_{m,n} - t_{m,n-1} - t_{m-1,n} + t_{m-1,n-1}| < \infty,$$

we have to prove that

$$(4.1) \quad \sum \sum |J_1| < \infty, \quad \sum \sum |J_2| < \infty, \quad \sum \sum |J_3| < \infty.$$

Now,

$$\begin{aligned} J_1 &= \frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \cdot \int_0^\pi \int_0^\pi \varphi(u, v) K_n(u) \cos mv \, dudv \\ &= \frac{1}{m \log^{1+\varepsilon} m \log^2 n} \left[\int_0^{1/n} \int_0^{1/m} + \int_{1/n}^\pi \int_0^{1/m} + \int_0^{1/n} \int_{1/m}^\pi + \int_{1/n}^\pi \int_{1/m}^\pi \right] \end{aligned}$$

$$(4.2) \quad = J_{1,1} + J_{1,2} + J_{1,3} + J_{1,4}, \text{ say.}$$

$$|J_{1,1}| = \frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \left| \int_0^{1/n} \int_0^{1/m} \varphi(u, v) K_n(u) \cos mv \, dudv \right|$$

$$= O \left(\frac{1}{mn \log^{1+\varepsilon} m} \cdot \int_0^{1/n} \int_0^{1/m} |\varphi(u, v)| \, dudv \right)$$

$$(4.3) \quad = O \left(\frac{1}{m^2 n^2 \log^{1+\varepsilon} m} \right).$$

$$J_{1,2} = \frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \cdot \int_{1/n}^\pi K_n(u) \, du \int_0^{1/m} \varphi(u, v) \cos mv \, dv.$$

$$\begin{aligned} &= \frac{1}{m \log^{1+\varepsilon} m \log^2 n} \left[\int_{1/n}^\pi K_n(u) \, du \left\{ \Phi_1 \left(u, \frac{1}{m} \right) \cos 1 \right. \right. \\ &\quad \left. \left. + \int_0^{1/m} \Phi_1(u, v) m \sin mv \, dv \right\} \right] \end{aligned}$$

$$= J_{1,2,1} + J_{1,2,2},$$

where

$$\Phi_1(u, v) = \int_0^v \varphi(u, t) dt,$$

provided this integral exists [1], so that

$$\begin{aligned} J_{1, 2, 1} &= \frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \int_{1/n}^{\pi} K_n(u) \Phi_1\left(u, \frac{1}{m}\right) \cos 1 du \\ &= O\left(\frac{1}{m \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n} \cdot \int_{1/n}^{\pi} \left| \Phi_1\left(u, \frac{1}{m}\right) \right| \log \frac{r}{u} du\right) \\ &= O\left(\frac{1}{m^2 \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n}\right) \end{aligned}$$

$$\begin{aligned} J_{1, 2, 2} &= \frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \int_{1/n}^{\pi} K_n(u) du \int_0^{1/m} \Phi_1(u, v) m \sin mv dv \\ &= O\left(\frac{1}{m \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n} \cdot \int_0^{1/m} m |\sin mv| dv \int_{1/n}^{\pi} |\Phi_1(u, v) \log \frac{r}{u}| du\right) \\ &= O\left(\frac{1}{m \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n} \cdot \int_0^{1/m} mv |\sin mv| dv\right) \\ &= O\left(\frac{1}{m^2 \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n}\right). \end{aligned}$$

Thus

$$(4.4) \quad |J_{1, 2}| = O\left(\frac{1}{m^2 \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n}\right).$$

Again

$$\begin{aligned}
 J_{1,3} &= \frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \cdot \int_{1/m}^{\pi} \cos mv dv \int_0^{1/n} \varphi_1(u, v) K_n(u) du \\
 &= \frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \cdot \left[\int_{1/m}^{\pi} \cos mv dv \left\{ \Phi_1\left(\frac{1}{n}, v\right) K_n\left(\frac{1}{n}\right) \right. \right. \\
 &\quad \left. \left. - \int_0^{1/n} \Phi_1(u, v) K'_n(u) du \right\} \right] \\
 &= J_{1,3,1} + J_{1,3,2}.
 \end{aligned}$$

Now

$$\begin{aligned}
 J_{1,3,1} &= O\left(\frac{\log(rn)}{m \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n} \cdot \int_{1/m}^{\pi} \left| \Phi_1\left(\frac{1}{n}, v\right) \right| dv\right) \\
 &= O\left(\frac{\log(rn)}{m \log^{1+\varepsilon} m \cdot n^2 \log^{1+\varepsilon} n}\right) \\
 &= O\left(\frac{1}{m \log^{1+\varepsilon} m \cdot n^2 \log^{\varepsilon} n}\right),
 \end{aligned}$$

and

$$\begin{aligned}
 J_{1,3,2} &= O\left(\frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \cdot \int_0^{1/n} |K'_n(u)| du \cdot \int_{1/m}^{\pi} |\Phi_1(u, v)| dv\right) \\
 &= O\left(\frac{1}{m \log^{1+\varepsilon} m \cdot \log^2 n} \cdot \int_0^{1/n} u |K'_n(u)| du\right) \\
 &= O\left(\frac{1}{m \log^{1+\varepsilon} m} \cdot \int_0^{1/n} u du\right) \\
 &= O\left(\frac{1}{n^2 m \log^{1+\varepsilon} m}\right),
 \end{aligned}$$

therefore

$$(4.5) \quad |J_{1,3}| = O\left(\frac{1}{n^2 m \log^{1+\varepsilon} m}\right).$$

Also,

$$\begin{aligned} J_{1,4} &= \frac{1}{m \log^{1+\varepsilon} m \log^2 n} \cdot \int_{1/n}^{\pi} \int_{1/m}^{\pi} \varphi(u, v) K_n(u) \cos mvdudv \\ &= O\left(\frac{1}{m \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n} \cdot \int_{\frac{1}{n}}^{\pi} \int_{\frac{1}{m}}^{\pi} |\varphi(u, v)| \log \frac{r}{u} dudv\right) \\ (4.6) \quad &= O\left(\frac{1}{m \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n}\right), \end{aligned}$$

since, by partial integration for double integral [2; 10] we observe that

$$\int_{\frac{1}{n}}^{\pi} \int_{\frac{1}{m}}^{\pi} |\varphi(u, v)| \log \frac{r}{u} dudv$$

is bounded at the points at which conditions (2.1) hold.

Combining (4.2), (4.3), (4.4), (4.5), and (4.6), we have

$$\begin{aligned} \Sigma \Sigma |J_1| &= O\left(\Sigma \Sigma \frac{1}{n^2 m^2 \log^{1+\varepsilon} m}\right) + O\left(\Sigma \Sigma \frac{1}{n^2 m \log^{1+\varepsilon} m}\right) \\ &\quad + O\left(\Sigma \Sigma \frac{1}{m^2 \log^{1+\varepsilon} m \cdot n \log^{1+\varepsilon} n}\right) \\ (4.7) \quad &= O(1). \end{aligned}$$

Now let us consider J_2 .

$$J_2 = \frac{1}{m \log^2 m \log^2 n} \left\{ \int_0^{1/n} \int_0^{1/m} + \int_{1/n}^{\pi} \int_0^{1/m} + \int_0^{1/n} \int_{1/m}^{\pi} + \int_{1/n}^{\pi} \int_{1/m}^{\pi} \right\} \varphi(u, v) K_n(u) h_1(v) du dv$$

(4.8) $= J_{2,1} + J_{2,2} + J_{2,3} + J_{2,4}$, say.

$$J_{2,1} = \frac{1}{m \log^2 m \log^2 n} \int_0^{1/n} \int_0^{1/m} \varphi(u, v) K_n(u) h_1(v) du dv$$

$$= O\left(\frac{1}{nm^2 \log m} \cdot \int_0^{1/n} \int_0^{1/m} |\varphi(u, v)| du dv\right)$$

(4.9) $= O\left(\frac{1}{n^2 m^3 \log m}\right)$.

By partial integration as in $J_{1,2}$, we have

$$J_{2,2} = \frac{1}{m \log^2 m \log^2 n} \left[\int_{1/n}^{\pi} K_n(u) du \int_0^{1/m} \varphi(u, v) h_1(v) dv \right]$$

$$= \frac{1}{m \log^2 m \log^2 n} \left[\int_{1/n}^{\pi} K_n(u) du \left\{ \Phi_1\left(u, \frac{1}{m}\right) h_1\left(\frac{1}{m}\right) \right. \right.$$

$$\left. \left. - \int_0^{1/m} \Phi_1(u, v) h_1'(v) dv \right\} \right]$$

$= J_{2,2,1} + J_{2,2,2}$, say.

$$J_{2,2,1} = O\left(\frac{\log(rm)}{n \log^{1+\epsilon} n \cdot m^2 \log^{2+\epsilon} m} \cdot \int_{1/n}^{\pi} \left| \Phi_1\left(u, \frac{1}{m}\right) \right| \log \frac{r}{u} du \right)$$

$$= O\left(\frac{1}{n \log^{1+\epsilon} n \cdot m^3 \log^{1+\epsilon} m}\right)$$

$$\begin{aligned}
 J_{2,2,2} &= O\left(\frac{1}{m \log^2 m \cdot n \log^{1+\varepsilon} n} \cdot \int_0^{\frac{1}{m}} |h'_1(v)| dv \cdot \int_{\frac{1}{n}}^{\pi} |\Phi_1(u, v)| \log \frac{r}{u} du\right) \\
 &= O\left(\frac{1}{m \log^2 m \cdot n \log^{1+\varepsilon} n} \cdot \int_0^{\frac{1}{m}} v |h'_1(v)| dv\right) \\
 &= O\left(\frac{1}{m \log m \cdot n \log^{1+\varepsilon} n} \cdot \int_0^{\frac{1}{m}} v dv\right) \\
 &= O\left(\frac{1}{m^3 \log m \cdot n \log^{1+\varepsilon} n}\right),
 \end{aligned}$$

so that

$$(4.10) \quad J_{2,2} = O\left(\frac{1}{m^3 \log m \cdot n \log^{1+\varepsilon} n}\right).$$

Also

$$\begin{aligned}
 J_{2,3} &= \frac{1}{m \log^2 m \log^2 n} \left[\int_{\frac{1}{m}}^{\pi} h_1(v) dv \int_0^{\frac{1}{n}} \varphi(u, v) K_n(u) du \right] \\
 &= \frac{1}{m \log^2 m \log^2 n} \left[\int_{\frac{1}{m}}^{\pi} h_1(v) dv \left\{ \Phi_1\left(\frac{1}{n}, v\right) K_n\left(\frac{1}{n}\right) \right. \right. \\
 &\quad \left. \left. - \int_0^{\frac{1}{n}} \Phi_1(u, v) K'_n(u) du \right\} \right]
 \end{aligned}$$

$$= J_{2,3,1} + J_{2,3,2}, \text{ say.}$$

$$\begin{aligned}
 J_{2,3,1} &= O\left(\frac{\log(rn)}{m^2 \log^{2+\varepsilon} m \cdot n \log^{1+\varepsilon} n} \cdot \int_{\frac{1}{m}}^{\pi} \left| \Phi_1\left(\frac{1}{n}, v\right) \right| \log\left(\frac{r}{v}\right) dv\right) \\
 &= O\left(\frac{1}{m^2 \log^{2+\varepsilon} m \cdot n^2 \log^\varepsilon n}\right).
 \end{aligned}$$

$$\begin{aligned}
 J_{2,3,2} &= O\left(\frac{1}{m^2 \log^{2+\varepsilon} m \cdot \log^2 n} \cdot \int_0^\pi |K'_n(u)| du \int_{\frac{1}{m}}^\pi |\Phi_1(u, v)| \log\frac{r}{v} dv\right) \\
 &= O\left(\frac{1}{m^2 \log^{2+\varepsilon} m \cdot \log^2 n} \cdot \int_0^{\frac{1}{n}} u |K'_n(u)| du\right) \\
 &= O\left(\frac{1}{m^2 \log^{2+\varepsilon} m \cdot n^2}\right).
 \end{aligned}$$

Thus

$$(4.11) \quad J_{2,3} = O\left(\frac{1}{m^2 \log^{2+\varepsilon} m \cdot n^2}\right)$$

$$\begin{aligned}
 J_{2,4} &= O\left(\frac{1}{n \log^{1+\varepsilon} n \cdot m^2 \log^{2+\varepsilon} m} \cdot \int_{\frac{1}{n}}^\pi \int_{\frac{1}{m}}^\pi |\varphi(u, v)| \log\frac{r}{u} \log\frac{r}{v} dudv\right) \\
 (4.12) \quad &= O\left(\frac{1}{n \log^{1+\varepsilon} n \cdot m^2 \log^{2+\varepsilon} m}\right),
 \end{aligned}$$

since the integral

$$\int_{\frac{1}{n}}^\pi \int_{\frac{1}{m}}^\pi |\varphi(u, v)| \log\left(\frac{r}{u}\right) \log\left(\frac{r}{v}\right) dudv$$

is bounded.

With the help of (4.8), (4.9), (4.10), (4.11), and (4.12) we obtain

$$(4.13) \quad \Sigma \Sigma |J_2| < \infty.$$

Similarly,

$$(4.14) \quad \Sigma \Sigma |J_3| < \infty.$$

Collecting (4.1), (4.7), (4.13) and (4.14), we have

$$\Sigma \Sigma |t_{m,n} - t_{m,n-1} - t_{m-1,n} + t_{m-1,n-1}| < \infty.$$

Similarly it can be shown that

$$\Sigma |t_{m,n} - t_{m-1,n}| < \infty, \quad \Sigma |t_{m,n} - t_{m,n-1}| < \infty.$$

This completes the proof of the theorem.

I am indebted to Prof. M. L. MISRA for his kind interest and advice in the preparation of this paper.

REFERENCES

- [1] Y. S. CHOW, *On the CESÀRO summability of double FOURIER series*, Tôhoku Math. Jour., 5 (1953), 277-283.
- [2] J. J. GERGEN, *Convergence criteria for double FOURIER series*, «Tran. Amer. Math. Soc.», 35 (1933), 29-63.
- [3] G. H. HARDY, and W. W. ROGOSINSKI, *Notes on FOURIER series, IV. Summability (R_2)*, «Proc. Camb. Phil. Soc.», 43 (1947), 10-25.
- [4] J. G. HERRIOT, *The Nörlund summability of double FOURIER series*, «Tran. Amer. Math. Soc.», 52 (1942), 72-94.
- [5] G. M. MERRIMAN, *The convergence of double FOURIER series of certain type*, «Bull. Amer. Math. Soc.», 34 (1928), 319-323.
- [6] P. L. SHARMA, *On harmonic summability of double FOURIER series*, «Proc. Amer. Math. Soc.», 9 (1958), 979-986.
- [7] M. F. TIMAN, *On absolute summability of FOURIER series in two variables*, Soobse Akad. Nauk Gruzin S. S. R., 17 (1956), 481-488.
- [8] E. C. TITCHMARSH, *The theory of functions*, Oxford, 1939.
- [9] O. P. VARSHNEY, *Thesis presented for the degree of Doctor of Philosophy of the University of Saugor*, 1960
- [10] W. H. YOUNG, *On multiple FOURIER series*, «Proc. London Math. Soc.», 11 (1913), 133-184.